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PART A

Section Id : 181520162
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 181520205
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 18152010823 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cyclist person pedals from his house to his college at a speed of 10 KMPH
and back from the college to his house at 15 KMPH then the average speed of
cyclist is

2.8 558 D ES D A @03 oA S Evrarerdy 10 KMPH 3o
SO0 EvrFrey Do @ed) @oe38 15 KMPH 3o 8d)
FELH0LT IP SN0EFE . 0 I 558 D ES D Sfen Ko

Options :
13.0 KMPH

12.5 KMPH
12.75 KMPH

12.0 KMPH
4. ¢

Question Number : 2 Question Id : 18152010824 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

If the weights being the corresponding numbers, then the weighted arithmetic
mean of the first 15 natural numbers is

23090 D0D0HB DOPITONA o), R0AE3 15 DT DOPIO
2B00Y) 008 ieded dfen

Options :

7.33
l. &

7.5

10.33

10

Question Number : 3 Question Id : 18152010825 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The samples collected from the two firms A and B of sizes n1= 500, n2=600
having means 186 and 175 respectively with variances: o* = 81, o, =100,
then variance of the distribution of all taken togetheris ____

A DB B @F B0 N0 cDoG TEOOD ni= 500, n2=600
DBITET O |DBETDSN DHED (ADD) €0 SISO 186 OO 175 &
GOLFOW: °E3 DY ox? = 81, 6y =100, @00 o)) e3R O
SNBNY HONET TWBEL DS &

Options :

121.36
1. ¢

120
2. %

3. % Had

128



Question Number : 4 Question Id : 18152010826 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a range of six times the standard deviation covers at least 18 class intervals,
then the amount of difference made by Sheppard's correction in the corrected
value of standard deviation in terms of nearest percentage is

EFPedE DION0 TINE) et BEY 78 SN0 18 51183 0053
56 TR, DD TS0 IGO0 ([@PSreds IS0 Ty, HBAYDRD
DEeNSS’ NG T0EY OCD2TEN TI°ST° TN 95EPEN0 IS0
Options :
0.5%
1. ¢

1.25%

3.12%

5.21%

Question Number : 5 Question Id : 18152010827 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For a distribution, the mean is 10 and variance is 16, 1= 1, then its third non-
central moment about origin is

2.8 252303000 O3E) e 10 DB DVHe 16, 11= 1, &3 TR NI
SOlDeAS (N0 358 ) s

Options :
64

116

- 1544



1024

Question Number : 6 Question Id : 18152010828 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the wrong statements from the following. (A.M: Arithmetic Mean; GM
Geometric Mean; HM: Harmonic mean)

80O o3 OB Ha)) (5O (hlodod. (AM: @0¥ieded
S53¢956500500; G.M.: 235 a0EBOD o3€550065 ; HM: $FE 35 9¢5 5030650 )

(i) (A.M.2-(G.M)?=c2

(i) (G.M)X (A.M)= (A.MY- 2.

(iii) (H.M.) X (A.M) = (A.M)? - o2,
Options :

(1)

1. &

Question Number : 7 Question Id : 18152010829 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first three moments about origin are 3, 20.76 and 91.68. Then the
moment coefficient of skewness (/31 ) nearly is

S0 DO SBNE) TEIES SIPCD sEID e 3, 20.76 DO
91.68. @) )¢ oS Eed TBNEY Fodad aDEID (D0 (VB1) (TPTY)

Options :

-0.562
l. ®

-2.15



3 o -1.02

3.12

Question Number : 8 Question Id : 18152010830 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement(s)
(i)  The arithmetic mean is not preferred for the non-normal populations.
(i)  The arithmetic mean is not preferred for the frequency distribution
having end classes are open.
(lif) The Median is preferred for the non-normal and end classes are open.

A0M (8E(®)ed OO0
(i) G0 55 2300250 e@08eded OIEX (pIP T 5ed Qaed §20C8CN.
(ii) 0A0Y AdHeen SO Gr) TS 0BANOT e0Eieded
QM IR Eed Wad £22C8CND.
(i) TGP0 U HNOAW H0E TOOK NGRS [rTesed
Qo 522C0EN 0.

Options :

Question Number : 9 Question Id : 18152010831 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the wrong statement among the following
(i) The standard deviation of the sampling distribution is called standard
error.
(ii) The standard error of sample mean is the standard deviation of means
of all possible samples drawn from the population.

(iii) Standard error of standard deviation is o?/n

808 3¢S 553 1980 MHBood
(i) 50T HONES TB0E), FPSTEIE DO 1arSreds S0
e 0er.
(il) ST (3N TBE) ErPSe3E S'H0 RO a3rer od
SNEDBN @) IR SN AT TBNEY 1aTSTedE
D TIOINO.
(i) [arSTredd DION0 T} Erasreds ' Ho o2in

Options :

(1)

(if)

2. %

Lo (i)

(ii) & (iii)

4. %

Question Number : 10 Question Id : 18152010832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A random sample of five observations drawn independently from a population
whose mean is 10 and variance 25 then the degree of freedom of the sample
s

Qe 10 HO0D DYed 25 ) 2372 ADOG D 5B0BSOTT AT HDI)E
S @NEDAES DY HBFOSO TBE) B0y WES) o

Options :

<]
l. ®



2. %

3.0 3
2

4. %

Question Number : 11 Question Id : 18152010833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

You know that a certain letter is equally likely to be in anyone of three different
folders. Let o be the probability that you will find your letter upon making a
quick examination of folder ‘i’ if the letter is, in fact in folder i, i=1,2,3 (we may
have oi < 1) suppose you look in folder 1 and do not find letter. The probability
for the letter is in folder 1is

2,5 DON 8 50 e SO 5B FREOS’ BAS T T DSTPOOTT &05
35740 GOSN DB Ben. A28 FOB i, i=1,2,3 (DS o < 1
&0C9TN.) @DBOTTO, T eFQDR DO HOFOODS STe ged K N
@550 O EFT D0ogrssed o T GOGRSI0B. D FY5 1 &
SPGOB HOAW 98 B0 ENFHDHBN. @880 08 165 &0 S8
DOl fed

Options :

1/3

l. %

’ o 1-001/3-01

a1/ (a1+oo+os)
3. %

1-02-013 /3-011
4. %

Question Number : 12 Question Id : 18152010834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If 'n’ biscuits be distributed among ‘N’ persons, then the chance that a
particular person receives r (<n) biscuits is

N )20 'N' 535500 ¢3¢ HODES BONDAES, 2.8 QR 558 1 (<n)
D3 V800D 955750

Options :

"Cr / NCn

1.

"Cr N™/ NP

2. %

"Cr NChrs/ NCp
3. %

n _4\N-T7 pn
L v "Cr(N-1)"/N

Question Number : 13 Question Id : 18152010835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider a class of T’ students. The birthdays of these 'r' students form a
sample of size r' from 365 days in the year. Then the probability that all r’
birthdays are different is

2% 583 Mo T dridhed HBNgosod. & T doide
EITaren N05335065 365 Fared NG T HDOSIP0  TBE)
ST DGO, @I @) T HBSTeren HI)omr GO
P rARN )
Options :

SESCH;SEﬁF;r

l. %

¥5C, 1 365"

2. %

365 r
™ Pr/ 365



1- (365NP / 3657

Question Number : 14 Question Id : 18152010836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Urn-l contains one white and two black marbles, Urn-ll contains one black and
two white marbles, and Urn-lll contains three black and three white marbles. A
die is rolled. If 1,2, or 3 shows up Urn-l is selected; if 4 shows up, Urn-ll is
selected and if 5 or 6 shows up Urn-lll is selected. A marble is then drawn at
random from the selected Urn and is white. Then P[Urn-l/ white]=

21 2.8 Bews) HBO Boch Hen) SPHIS) Gy o, -
2,8 Send) HO0H Bod Bewnd MPen Gar)on HOC DT-INS
SOPC EWaY DO L Bewa)) SO Gor)on. .8 rdE
DB, 1.2, BE® 3 LTDR DB DODE TADDDEAOH; 4 LITPVR), V-
Il QOTNTDCA0A HOCW 5 B 6 LIPS DwW-Il JOTLE DEDS0B.
QODE TS DT N0 28 FOTON ASPSHDIE0T B0
DO BOMT G0LN0A. @630 P[-1/ S8end) |=

Options :

4/9
l. %

1/6
2. &%

1/9
3. %

;
4. ¢ .

Question Number : 15 Question Id : 18152010837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The probability for five-digit the number formed by the digits 0, 1, 2, 3, 4 without
repetition is divisible by 4 is

TS50 BEOOT 0, 1, 2, 3, 4 FODIOB DB IS DD oI oW,
4 & 2PH0N VDB (e Doz seh



Options :

6/16
l. %

5/16
2.¢

7/16

10/16

Question Number : 16 Question Id : 18152010838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let k be the largest number drawn from a box contains tickets numbered 1 to
N. in 'n’ random drawings with replacement then P[X=k] is

kK o ¢33¢ To5 1 00& N e 0838 JoeD 235 Dod
HOoWE T 2PN0I0GE. SBA TH) HDBS APHDIEOT n 3, P[X=K]

Options :
(k/N)"
1. %

5 n
L (1)

(k+1/N)"
3. 0%

(K/N)" - (k-1/N)"
4. &

Question Number : 17 Question Id : 18152010839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A lot consisting of 50 bulbs is inspected by taking at random 10 bulbs and
testing them. If the number of defective bulbs is at most 1 the lot is accepted;
otherwise, it is rejected. If there are, in fact, 10 defective bulbs in the lot the
probability of accepting the lot is.

ASPHYDIEOT 10 eV 10D BT 730 HO8owcso wrgoe, 50
20O ErAS MH0oY)  SAD DOV, S HITOVR 22 )
SO BBROTT 1 OB (HOJ(EPE) eITHOIDENA0H; BEFSB, o
BE0L00DHR0H. TVFIE, eréIeS 10 S'Hrona  2en)en
) 0N, el @oN¥B0T Do sed

Options :

10y Moot B

l. &

mCmf"ﬁDCm
2. %

Ll T ) i B

3. &

L (10. 49Cq +4°C1g ) / ®°C10

Question Number : 18 Question Id : 18152010840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A and B stand in a ring with 10 other persons. If the arrangement of 12
persons is at random. The chance that there are exactly 3 persons between A
and B.

A DO B 0T 10 2008 35006 BORS QO2BTH. 12 08 35500
@008 ASrd)DIEOT GOB). A SOOI B N5 SO S0 o9550ew
GO0 @95 D02Ti5ed

Note: For this question, discrepancy 1s found in

question/answer. Full Marks 1s being awarded to all
candidates.

Options :



8/20

318
2.
; 3/95
24/95
4,

Question Number : 19 Question Id : 18152010841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Out of ‘3n’ consecutive numbers 3 are selected at random. The probability
that their sum is divisible by 3.

30" SED Do 3 AFGHYDIEOT JODE TANHTOW. 7¢3 IS0
3B rNoTICE 8 o> doeFTedsed

Options :
3n¢+3n-2
on2+9n-2

n2—-9n-2
onZ—3n+2

3n?+3n+2
onZ—on+2

3n?-3n+2

4 on?—-on+2

Question Number : 20 Question Id : 18152010842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In answering a question on a multiple-choice test, an examiner either knows
the answer or he guesses (with probability g=1-p). Let the probability of
answering the question correctly be 1 for an examiner who knows the answer
and 1/m for one who guesses (m bheing the number of multiple-choice
alternatives). Suppose an examiner answers a question correctly, then the
probability that he really knows the answer?

DTVF-D0DE DOES 1H9H ASTPETIDTILN I, .8 HOTOEGE
DATETH0 BEN BT @65 ERaT0TD (D02 iesed q=1-p). 104 %0
DB DITPETINT) 0273865 JATETH0 BOVD HOFOHAE 1 HOAW
200G 08 1/m (M ©TH DTVF-D0DE (DEPLIT)o5Fre) Hows). 2.8
OO0 28 109150 N0 QAT IG0 @00, eed)8
Q30T AITPEPV0 BOVN Q) 02T 565

Options :

m/(mp+q)
l. ®

L » MP(mp+a)

p/(mp+q)

3. 0%

q/(mp+q)

Question Number : 21 Question Id : 18152010843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Suppose there are 25 different types of coupons and suppose that each time
one obtains a coupon, it is equally likely to be any one of the 25 types. The
expected number of different types that are contained in a set of 10 coupons.

125 3570 HPITN &) 0N @NEOTO HO0M 1DBrD 2,5M
EPHSE FOOSH I, @O 25 550 DB 2.E0°8 DSFSOT S05
955750 SO DHE0T0. 10 EFISe DES, IV Bseen D)
") 0TI )eWed

Options :

25[1-(24/25)'0
-, 2801-(2429)"]



25[1-(1/25)'°]

2. %

125[1-(1/25)10]
3%

125[1-(24/25)17]
4. %

Question Number : 22 Question Id : 18152010844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At a party N men throw their hats into the centre of a room. The hats are
mixed up and each man randomly selects one. The expected number of men
who selects their own hats is

2,8 3OS N HAODED S Do HO D8 DT, SHen
5PN oDHDOMP Gor) 0D . 000 (D63 DV ASFdy 5o
2.8T°Q) DOTRH0EFE. 0 N0 SO DOTHENG) HEHE
90TITT® )V 0d

Options :

N/2

Question Number : 23 Question Id : 18152010845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



IfPIX=0]=1- — and P[X= 1] =_thenthe P[ | X | 2ko ] =
PIX=0]=1- — 000 P[X = +1] = — @00 P[| X |2 ko ] =

Options :

1

==

3.9

0.01

Question Number : 24 Question Id : 18152010846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following properties of cumulative probability distribution function

F, which are correct
(i) F(b)is nondecreasing function of b

(i) F is always continuous
(iii) lim p—= F(b) =1 and lim b F(b) = 0.
DO D0eTH5es Daresdd (DD, F By o arereS, 806 o3
HBID
(i) F(b) @3 b G3E) I |HDON
(i) F o)) )ear QO0eS0MT G000 b
(iii)  1im b= F(b) =1 20O lim s F(b) = 0.

Options :

(i)



(iif)

3. %
All of the options
ﬂi:l

Lo © ) odo®

Question Number : 25 Question Id : 18152010847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3]
x?

If the probability mass function of the random variable X is P[X=x] =
x=1, 2, ..., then the moment generating function of X is

ASPeSDNE LIOTEE X O30E) 02356 [£36350°7 |Dad0NSD P[X=x] ==
° . x=1, 2, ..., 3 ST L5 Jre S &IOS 1DDANSD

:
m=x2

Options :
6(1+t)"

l. &

is an infinite forany t >0

2.
6
=
3.8
2
4, %

Question Number : 26 Question Id : 18152010848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the probability that an applicant for a driver's license will pass road test on
any given trial is 0.8, the probability that he will finally pass the test fewer than
4 trials is

(BDof BIS) §00 SETRTEHH B LONSS & BRS
&e3fed rHO0T 002g795e 0.8 ©0NB, @5 DVIGE 4 (ODHD ) 0T
550205 HDBE S &dYes FHOT HoeFSzes



Options :
| v 0.992

5, 0.952

3 g 0.999

0.64
4. %

Question Number : 27 Question Id : 18152010849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Subway trains on a certain line run evenly for half an hour between mid-night
and six in the morning. The probability that a man entering the station at a
random time during this period will have to wait at least twenty minutes.

2,5 QBN SrG0oS H235 T 0BTe(83 SHOAN EEI0HO e3¢ KOEIed o0eds
DS o8H0e B IDIrSomr ScTow. & 52008 iy 8
HN0H0T VASSTE (D30T 358 EAN0 B3 daren JD
GO D02 5ed

Options :

L 1/3

2/3
2. %

1
3.8 72

1/4

Question Number : 28 Question Id : 18152010850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The lifetime (in hours) of a certain piece of equipment is a continuous random
variable having range 0<x<= and the pdf is f(x) = xe™ the probabilities that the
life time exceeds 2 hours is

2,8 DN HOEB0 W) BNSTO0 (H0&) 0<x<= HOOA ¥ON &oB
QAS0edS ATy 8 BeTr? HOOLW
Q) D023 565 0|68 (HDODSW fix) =xe ™™ 22D 50 2 oL Fo
D80)0) BFOT DO2TIfed

Options :

0.812
l. %

0.603
2. &%

3 0.406

0.212

Question Number : 29 Question Id : 18152010851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two persons A and B come to the club between 6 PM and 7 PM at random
points of time and each stay for 10 mins. The chance for they will meet is

QOB 65550eD A HOOL B 20 6 PM 2H0A50 7 PM o0& QS edg D)
DNATOES’ EETEY SATD HOAN 2,553 10 ATE GOEFED. a3
EOD Do sed
Options :
11/36
1. ¢

1

3. % 36

4w 10/36



Question Number : 30 Question Id : 18152010852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A straight line of unit length says (interval) 0, 1 as divided into three intervals
by choosing two points at random. The probability that these line segments
form a triangle is

DG B O30ELEre) OO (DTP0: 0, 1 D AR Y80 Bock
OO0 DOTHE N0 TEITT D DTITENT  025R00SED
TR, & B Dermred (320270) 28103 DoeTdses

Options :

Y2
l. %

1/3
Ya

Ya

Question Number : 31 Question Id : 18152010853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The variants ‘a’and ‘b’ are independent and uniformly distributed in the interval
(0, 3) and (0, 6) respectively. Then the probability for the equation x?-ax+b has
two real roots is

‘2’ SNDOOW B HOTENED O 5H0(SOTT E0LTPON DO ST D& DG
D23235:50 (0, 3) DO (0, 6) 05BN B EOID. @) xZ-ax+b
SEGEI0 BOLD a7 STerercd DR S0cnedsd e S0z seh

Options :

|y 1/18

. 118

1/6
3. %



1/3

Question Number : 32 Question Id : 18152010854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statements
(i) If X follows Beta Distribution of Second kind then 1/1+X follows Beta
distribution of first kind.
(i) If X and Y are Poisson variants the condition distribution of X/X+Y is
Binomial
(iify Chi-Square distribution is Gamma (%2, 2).
A0 10800 Mbowsod
(i) X B0 850 DeF N2r23adedn Q) IO, 1/1+X Jnse3 B%0
DEF DeT239NR) NNON0E.
(i) X DOO0W Y ronad SoTrdHen eons XIX+Y adche
223000 O £a0Cd 2)2T"2300e00
(i) (i) D-702 50 D230 TP (Y2, 1) TP S 0EN0D.
Options :

(i)

l. %

(ii)

2. %

(iif)

3. &

All of the options

e9a)) G
4. ¢

Question Number : 33 Question Id : 18152010855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A petrol pump is supplied with petrol once a day. If its daily volume of sales (X)
in thousands of litres is distributed by

fix)=5(1-x)* 0=x=<1
The capacity of its tank in order that the probability that its supply will be
exhausted in a given day shall be 0.017

RDE'S HoDH Ferdd 5D DSOS JEHTT TOHDENHO0D. IO

OGS T Farard DEOSTO HOSTEIO (X) T°50° HONES TAHHES
fix)=5(1-x)* 0=x=1

2NN TS Q) DSEHNT® 90NTFAD H0eTdsed 0.01 SOTO0T) 70

er:08 traQi0?

Options :
|« 6019

5 g 998

100
3. %

4y 796

Question Number : 34 Question Id : 18152010856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The random variable X is Uniformly distributed over (-1,1). The density of Y if
Y =cos X is

OS9D)E BT X, (-1,1) 2 DSOS Darasdded TOHDR0H. Y = cos
X @0 Y 3JwE) arolcied

Options :
1
21,/ 1—Sin y?
l. %
1

21,/ 1—(Sin y)?

2. &%



1
21y 4/ 1—y?

27 1—y?
4. ¢

Question Number : 35 Question Id : 18152010857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the wrong statement from the following
(i) The correlation coefficient cannot numerically exceed the arithmetic
mean between regression coefficients.
(i) If one regression coefficient is less than unity the other one may be less
than or greater than unity numerically.
(iif) If one regression coefficient is greater than unity the other one must be
less than unity numerically.

808 a7e3 A0 €95 ) 1088 HOowoG

(i) QaTFd0206 (D80 0TSO (edlfadad (Headdne eodieded
AOHENAD ADOTIBTCE .

(i) 8 |DBHDSMDEID 2863  EoT SBLIT &0, HTEES
RNOYPENGOM 2,583 50T 550} BT DBO)IT E50C8IT.).

(i) 8  (DSBDNIMREID 253 50T DHIT GO TS
DOFTENGOM 2,5¢3 0B 580)3TT S0EE).

Options :

(i)

1. &
2. v (i)

(iif) & (i)

3. %

All of the options

L &) Al

Question Number : 36 Question Id : 18152010858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If the random variables X and Y be jointly distributed with density f (x, y) = e”¥
where 0 < x <y < =, then the coefficient of regressions of X on Y and Y on X
are:

A0 )8 hoTrden X DB Y e G3E) dodins deress arolddes f
(X, y)=e¥;:0<x<y<wo & DOHOAB, eI Y 2 X 8w XY

Q305 (e85 (hea%o:
Options :
(Y2 and %)

(V2 and 1/4)
S

(Y2and 1)
3.

(0.25 and 0.5)
4. %

Question Number : 37 Question Id : 18152010859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The probability density function of two random variables X and Y is given by
(x, y) = 1.5(x?+y?) where 0 < x, y = 1 then the regression line Y on X is

D0 AIrdp)s weorrden X HO0aiy Y A3E) dordted aro|cied
D000 F(x, y} = 1.5(x2+y2) @5 0 < X, ¥y < 1 T°50° QI 520D 0E,

o=

@D Y DX D35S B
Options :



55 15
= _2X
73 73

Question Number : 38 Question Id : 18152010860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The probability density function of two random variables X and Y is given by f
(x,y) =2 where 0 < x, y and x+y <1 then the correlation between X and Y is

00D APy NE oTrden X 00k Y A3wE) Qoardied aro|died
DTDCNSD F(X, y) = 2 T°L0° Wed £SO, WEHCE 0 < x, y OO x+y
<1. @) )0 X DO Y oD e 00D060

Options :

-1/3
l. &

5 -1/2

-1/6

Question Number : 39 Question Id : 18152010861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If V(X)=208.89, V(Y)=288.76 and V(X-Y)=137.61 then the correlation
between Xand Yis __

V(X)=208.89, V(Y)=288.76 DO V(X-Y)=137.61 @0n® X 0O Y
eQE NeI"0D0E0
Options :

L& 0.895

0.985
%



0.758

0.761

Question Number : 40 Question Id : 18152010862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The correlation coefficient between X and Y is -0.5 The line of regression
passes through the points (4,0) and (-14,3) and the other line of regression
passes through the point (+1,-1) then the means of the variables X and Y are

X o000 Y o088 deT0022068 (D80 -0.5, &8 (D31 OB aranoe)
(4.0) SO (-14,3) Do IJELAOD HOAW WS (DSBS T
PON0E (+1.-1) Hom TFAHOA. @O X DB Yoo
GVALPRNIpTAN

Options :
(1.00, 1.00)

. (-1.99, 0.997)

(1.99,1.997)

(0.99, 0.997)
4. ®

Question Number : 41 Question Id : 18152010863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the true statements from the following
(i) Consistent estimator is not necessarily unbiased and may not be unique.
(ii) A Consistent estimator may be meaningless.
(iii) Tn(x)is consistent if V(Tn(X))—0 as n—=< and Tn(X) as n—= is unbiased
8083 A DOG VBN (D880 MHOoBo&
() VOIS @03 SIOIAIOM DAL TSOT GO )N @S5G0
B DO 2,83V GOCENFHTN).
(i) DO @00 PGS0 ).
(iii) V(Tn(x)) — 0 @as n—= DO Tn(X) V)8 a0e50 as N—= 0N Tn(X)
QS T GOLNOO

Options :

(1)

1. ®
S, (i) & i)

(if)

3. %

All of the options

&) aloe

Question Number : 42 Question Id : 18152010864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statements from the following
(i) Unbiased estimators do not exist always
(i) Unbiased estimators may not be unique

(iif)An unbiased estimator need not be consistent and Consistent
estimators need not be unbiased.

80&a7E3 AVOG VAN (DB HOoT0&
() Qed)Solred @0 eD )W) )T G50Ch))
(i) QAAEed @odreD (DBLEOM ol
(i) Qar)EET0N e20td DOEBMT G050 5080 BED SHBAY
DerEes @0wid Dar)8 Lo G0N @580 Beh.

Options :

(1) & (if)

1.



(ii) & (iii)

2. %
3 % (i)
All of the options
" e9a)) O

Question Number : 43 Question Id : 18152010865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let x1,x2, X3, x4, X5 be a random sample of size 5 drawn from a distribution with
_|x-8

= where x, 8 = R, then the maximum likelihood

density function
y f(x)= e
20

estimate of 6 is
x—

PO16968 |900% grasddad f(x) = 5 253¢8 X, 6 € R, OB x1, X0,
20

X3, X4, X5 €97 O3PID)E 00w HOSTEI0 5 & 3SR, es3) 6 G308y
1B Doerdsed eotime
Options :

. ¥

) X

Question Number : 44 Question Id : 18152010866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the true statements from the following
(i) Maximum likelihood estimator (MLE) may not be unbiased
(ii) MLE are may not be consistent and may not exist always.
(iif) MLE's are may not be unique
(iv) MLE's are functions of sufficient statistics
80A ¢ AVOG VRN (DELION HBobo&
(i) (10 023565 @O (MLE) Q)8 alredOrr 50 Ear i)
(i) MLE D8O SOGESFST0) SO0  d0HI%r  &ES
GOSN,
(iii) MLE e 083380 (2,838 ) 5088 E8¥a57)
(iv) MLE e e3ficd0e (sufficient) aromi5eerd) Q0D0H00N (000050

Options :
()&

(ii) & (i)

2. ®
(i)

All of the options

L e9a)) T

Question Number : 45 Question Id : 18152010867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If X follows an exponential distribution with P(X<1) = P(X>1) then variance of
the distribution is?

ASFHIDNE VOTPR X @A P(XS1) = P(X>1)& sretnd D2323ciain
(DEIFTBRONS B 2TENST) D @DIOW), Dzrrascddadd 33ng) Ddges

Options :

0.7014
l. %

1.4428
2. &%

2.0817
3. ¢



4.1740
%

Question Number : 46 Question Id : 18152010868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Random variate X follows Poisson (8), then the unbiased estimator for -3* is
AP BN NE BT X ro 2T (6)Q) e9c0NBW, @936 -3* §H0 dar)§ &
TeINTVE

Options :

Question Number : 47 Question Id : 18152010869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

(i) The MGF is a poor tool in comparison with characteristic function.

(ii) Arandom variable X may have no moments although its MGF exists.

(iif) A random variable X can have mgf and some (or all) moments, yet the
MGF does not generate the moments.

Q0N (0880 HOoB 0.

(i) 538 (DD0NSN & FO B MGF 2.8 OIS ardd0.

(i) AP E IOTR X 7 MGF &QES 50510638 78 Sretoseen
G OCEIITN).

(iii) OSPSHRE HoTF X GEE MGF HBw FR) (B @)
SERFED  GOBSTN), @ondNI3E  MGF  Jreastecd
ErarooTidh.

Options :



(7)

(if)

2. &%
3 % (i)

All of the options

e9a)) T
4. &

Question Number : 48 Question Id : 18152010870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

(i) Except the first cumulant, all cumulants are independent of change of
origin.

(i) Cu%wulants are not invariant of change of scale.

OB 08830 HOowo&

(i) BCHE3 HODSB0 ), @) DOLTPEW N0 AJNE) S8 0G

530SO S0EFON.

(ii) PFD 33D IB0 5050 5B 0EI e o370,

Options :

PROEY()

Neither (i) nor (ii)
4. %

Question Number : 49 Question Id : 18152010871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Random variable X be distributed with density f(x)=1if 0<x<1and =0
otherwise then P[ |X - 12| = 2\[%] >
OISR )E LT E X AB0EY aro|dded F(x)=1; 0<x<1 OO = 0 BES;
PLIX-%|s<2 | =]z

Options :

112
l. ®

3
2.9 “

4
3. %

Ya
4. ®

Question Number : 50 Question Id : 18152010872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If X is a degenerate random variable, then the variance of X is
X @00 § 80D AN I8 HOTF eond, X TB0EL D0He

Options :

L % Infinite

Does not exist

Question Number : 51 Question Id : 18152010873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A sample of 900 members us found to have a mean if 3.40 cm. The test statistic
value for testing can it be reasonably regarded as a simple sample from a large
population whose mean is 3.25cmand SD 261 cmis

900 sHOE DZNLEY [DEBETHSN TINE) e 3.40 0.2 EOR &5 EN
2030 EOFRR) 30, e 3.25 R0.a0 SO0 SD 2.61 0.8 &)
B2l ANOG QO PTG TN Aereiorr Hdfdotacenone
e HOE 0T FroW:ESn Dewss
Options :

0.15

Question Number : 52 Question Id : 18152010874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two gauges operators are tested for precision of measurements. One
Operator completes a set of 26 readings with Standard Deviation of 1.34 and
other does 34 readings with Standard Deviation of 0.98 then the test statistic
value is ?

SO 25 e)0OM Fereder ) Jehed co §0 HOE 0. 2.8 esdHTED
ErSredd DVIOS0 1.348 26 DA DD IO T HOAW
HEEH 0.98 [BrSTedE DVON0S 34 BAOHOE VS 0 TR, D84
TTOESD )N ?

Options :

| 18872

1.2545
%

2.3872
%



4 oy 41945

Question Number : 53 Question Id : 18152010875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from the following:

(i) The magnitude of the standard error (S.E) gives an index of the precision
of the estimate of the parameter.

(ii) standard error S.E. enables us to determine the probable limits within
which population parameter may be expected.

(iii) The discrepancy between observed and expected value of test statistic is
less than Z. times of standard error.

808 a°e3 A0 D (8LN(®) o HB0W0G:

(i) rredd S'H0 TRy HDOSTR0 DTN TBE) oI BV
D) )ede5 50 TNEY AN ED VNOA.

(i) BTrer JHTDER) @Ot J0DHe D02 DB
QP ON0LITEVE S.E. o5750 TP 0N0 TN0H.

(iii) D05 rowEo TE) HeDANODD HOOW eFoDD Densd 0SS
S5EPEN0 [BFSTESE S'00 TBNEY Zo D 0T 550) T GOEN0D.

Options :

(1)

All of the options

&) Al
4. ¢

Question Number : 54 Question Id : 18152010876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statement from the following:

(i) The chi-square probability curve for 1 and 2 degrees of freedom is
monotonically decreasing.

(i) When n>2, the chi-square probability curve is monotonically increasing for
0<x<n-2 and monotonically decreasing for n-2<x< .

(iif) The chi-square probability curve is positively skewed whenn = 1.

808 are3 A0 DB (LSO HOoT0G:

(i) 1 DOA® 2 AHe W5 SO0 D-W 50 Do2Tdsed IETH )
Do DS,

(i) N>2 @O  D-3i0 Doerssed HE0m  0<x<n-28
DSDETIONOT DHDDHED0A HOAH n-2<x<x § SrH) Soom
3MDB0A.

(i) () n = 1 oS D-0 Doeredzed S ETD arcddreom
SO S0ENOA.

Options :

All of the options

e alooe
4. ¢

Question Number : 55 Question Id : 18152010877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



For validity of chi-square test between theory and experiment, among the
conditions to satisfy are given below. Identify the correct conditions
(i) The constraints on cell frequencies, if any should be linear.
(i) The total frequency should be reasonably large, say greater than 50
(iif) The sample observations should be independent.
NTTOH0 SHOOIV (DT 03¢ -7 50 HOE FwE) Tewerew 500,
D065y TOTOIN ABeen (80 QS DTON. AT ABA(O) &
HBoo&

() DS DIBLD IO D DO, S O NEFor Sod.

(i) BOSB0 DT TereRZOT DOAT S0, Tar)©0oD) 50 0

NEAPEN
(i) 0T HOFONEN & HOSOT SoEE)
Options :
(i)

l. &

(i) &(iii)

2. %
s, (i) &iii)

All of the options

&) aloe
4.

Question Number : 56 Question Id : 18152010878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The test statistic Z value for testing the hypothesis that o = 10, given s =15
for a random sample of size 50 from a normal population is

DOEOIR™D o = 10, HOLoVTAE HOE TroEIN Z Dewsd ,
PEPG 2300Y A0S HDOST0 50 L) OSSR S S0 s
=15 QI VR0

Options :
| & 5.05

112.5
2. %



22.5

4y 15.15

Question Number : 57 Question Id : 18152010879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mode of central F-distribution with m& n degrees of freedom is
m DO N AR VIS VOIS F-D2ra3dein TInE) 228T0E50

Options :

L % mn / n(m+2)

m(n-2) / n(m+2)

(m-1)n/ m(n-2)
3. %

m(n-2) / n(m-2)
4. %

Question Number : 58 Question Id : 18152010880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In one sample of 8 observations, the sum of the squares of deviations of the
sample values from the sample mean was 84.4 and in the other sample of 10
observations, it was 102.6. The test statistic value for testing the difference is
significant is

2,8 35075’ 8 HOROIS TBNEY AN OB N Desder By
DVOTO HPSNO JNB0 84.4 HOAN 10 NOFONL AWE), HTE

SodarmeeS, @l 102.6. B HOE0ERE HOE oS 50 Dends

Options :

12.057
l. %

1.4
2. &%



L » 1057

3.29

Question Number : 59 Question Id : 18152010881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from the following:
(i) The distribution of r is by no means normal when p=0.

(ii) To test the significance of of an observed sample r from an uncorrelated
bivariate normal, t-test is used.

(iii) A correlation coefficient of 0.72 is obtained from a sample of 29 pairs of
observations. The test statistic Z for testing its significance is 0.907

808 a°e3 A0 OB (D) HOowo&:

(i) p#0 @O I V2T OO GOCAN.

(i) DEDIE H0080 B &S s Deresciadd a0 HHoDS
DBEPISN r T0E) Er0DBD DO oNERE, 003
500 03rN0TID A 0O0.

(iii) 29 23650 DOIONE DBEFHSN DOG 0.72 IFH020E Hea%o
FOSDRB00. 0 (VLA DO oNERE HOE wromsio Z
a)ewad 0.907

Options :
(i)
l. %

(if)

2. &%

(i)

3. %

All
4. ¢

Question Number : 60 Question Id : 18152010882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



95% confidence limits for the population correlation coefficient based on
sample of size 625 with correlation 0.2 is

DIBEFD DOSTI0 625 & He) NDaTH00E0 0.2 erdomr '8
B0 006 H%0 §H0 95% DD DO

Options :

(0.175, 0.225)
l. %

(0.150, 0.250)

(0.125,0.275)
3. ¢

(0.112, 0.288)
4. %

Question Number : 61 Question Id : 18152010883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A random sample of 27 pairs of observations from a normal population gave a
correlation coefficient of 0.6, the test statistic value for testing its significance
is

TG 550 AN0G OIPGYDIE ST BNEN) 27 BB HBIOSE
293800 A0E)Y DaTFH0D0E HEaE S0 0.6 GO, POV TV
B30 6500 DO 0TI a3°¢8) HOE. Ao LN Deed

Options :

L& 3.75

, . 3.08

2.06
3. %

0.64
4. %

Question Number : 62 Question Id : 18152010884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The parameter values of chi-square distribution are given below. Identify the
correct matches

Q-7 50 Derazcdadn A3E) DT Denedew (8o @S s2FPow. OB
ABFOED MHOoos

a) Mode 25085, | (i n

b) Mean (e E:L}} 2n“2

c) Variance a)cdy)es S B

(iv) 8/n

ol (v) 8n
Options :
. (@) <= (iv): (b) <= (iil); (c )e=(il); (d )=(V).

(@) < (i) (b) <> (iii); (¢ )e(iv): (d)e(v).
2. %

(@) <= (iii); (b) < (i); (c)e(ii); (d )e(iv)
3.4

Question Number : 63 Question Id : 18152010885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Non-parametric test statistics & its related parameters (means/ variances) are
given below. ldentify the correct matches

DOWBAT DO VoS & TP D0DOHE DTN (DS
Ddged en) (80 QI 5DFOW. OB OO HBovod

(a) Mann-Whitney U test () mn/4(m+n-1)
(b) Median test (i) mn/2
(c) Wald-Wolfowitz Run (i)  n/4

test (iv) mn(m+n-1)/12
(d) Sign test (V) T+(mn/m+n)

Options :

L @ e ) (B) o (iiD; (¢ Jov). (@ ).



) (@) < (ii); (b) <> (i); (€ )e=>(v) , (d )e(iii).

L, @ (i) (B) o () (c)() . (d)eo(v).

4 @ (V) () o (i) (€ )e(i) , (d)e(iv).

Question Number : 64 Question Id : 18152010886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

X be a Gaussian random variable with mean zero and variance g2 then the
density function of | x | is

OS5 9D)E DOTR X @A dHEN HTP) HOC B0 028 MDA
D2T2300e30 D FOQ, | x| CB0E) ro(¢ied D0

Options :
Y i
—_ 2
V2T
1. %
1 _¥
e 2z
v2r
2. %
TS 5
e zZo*
V2r o
3. %
2 i
e 2o2
V2T G
4. &

Question Number : 65 Question Id : 18152010887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



R1 and Rz denote the respective numbers of runs of ni objects of type-1 and
n2 objects of type-2 in a random sample of size n=n{+n2. The joint distribution
of R1 and Rz is | distribution of

R1 o005 R2 SEMHED n=n1+n2 D070 TB0E) OSFS9D )8 dedarrres’
To-1 BwE) m 35 Hoc Ton-2 gy n2 «=PS5e gy
NOVOOH DOWEON ArDTTON. R1 HO0 Rz 3wE) &
Q2T 000 | 20232309030

Options :
)
2 (ﬂ,l+n2 )
nl

1.¢

(nl—l) (nz— l)
ri—1 r2—1

i
CE
nlin
3 (ﬂ,—nl)
nly m2
2 )
4 m ( nl )

Question Number : 66 Question Id : 18152010888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total number of class frequencies of all orders, for n attributes is
@) 860 TR (HTLDIO B0 dow, n Ee 50

Options :

n (”)
=0 T



- (?l)
r=1 T

?1) .
n 2?
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800 candidates of both boys and girls appeared at an examination. The boys
outnumbered the girls by 15% of the total. The number of candidates who
passed the number failed by 480. Equal number of boys and girls failed in the
examination. Then the Yule's coefficient of association Q is

800 HOA e:den (2rend HBA ardien D) HOEH
DFRGATE. evrjonew rO%en 0T INBo 15% Hod Gr) .
GBDHBI 25500 Do 480 HOO DONOATPIRD. N3RS HopeeS
2ro2rdien HOE S DNODHATTIE. 53160 0SS ) SnnoHoE e
PRI Q=

Options :

0.1875
1. ¢

0.2135

0.1725

0.2125
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct among the following:

(i) The attributes A and B are independent if either @ =0 or Y=0.
(i) A and B are complete association if either Y = +1 or Q = +1.
(iii) A and B are complete disassociation if either Y =-1or Q = -1
(iv) The limits of Qand Y are: -1 < Q, Y < +1,

808 ¢3S HBIO HOOOE:
() Q=0 Y=0 o00s A D00 B Hegren O 55050 ts0LFo.
(i) Y=4+1 B Q=+1 008 A HOW B aJ°0 e9sid220850.
(iii) AHBON B @TAY =-1 B Q=-1008 Jrd DT 1550
(iv) Q 0B Y TB0E) DO -1 £ Q, Y < +1,
Options :

(i) & (iv)

1. %



All of the options

e alre
4.9
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The k" moment uk when k = 2r (< n) for a t-distribution with ‘n’ degrees of
freedom is

t-23re3 0030 ki €808 ik €500 59680 K = 2r (< n) 59 ‘N’ Alied

Options :
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Correct Marks : 1 Wrong Marks : 0

Identify the correct among the following

(i) Moving average is a series of arithmetic means of variate values of a
sequence of fixed number of years (periods)

(i) Moving average deflates the magnitude of oscillation in a time series

(iiiy The moving average method takes care of cyclic and short-term
fluctuations very well there is subjectively in deciding the number of years
in a group.

808 73S HBIG HBoH0S

(i) DS DN (rNON OB E) 9RE VBN D0 ored
DO (SPeren) GBS WOTE Dended TBNE) e@odieddd ardored
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Options :
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l. %
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All of the options
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Identify the correct among the following
(i) The link relative method is good because link relatives eliminate cyclic
and trend effects
(iif) The link relatives are calculated for each and every season so that no
information is left unused
(iii) The use of correction factor further eliminates the trend effect
808 3 HBIO HOoH0A
() ©0F JDE HDB HODO HDotHEOT OOF ocMYHeD HIEAD
OO E83 (HDerarerddd SORTH
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Options :

All of the options

e9a)) AT
4.
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Identify the correct statement(s) from the following:

806 ¢365 HBIO MBS
(i) If (Pm) La < (Pm) Pa then (Pui} La < {P[}i) ME < (P[}i) Pa
(i) If (Poi) 12 < (Poi) P2 then (Pai) 2 < (Poi) F < (Pai) P2

w
(ili) Cost-of-living index number = L
Y OIW

Options :

l. &% U



(if)

2.%
()

All of the options

&) ahre

4. %
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The chain base index numbers (CBIN) corresponding to the years are given
below.

Year: 2000 2001 2002 2003 2004 2005

CBIN: 105 75 71 105 95 90

Then the fixed base index number corresponding to the year 2004 is
D033 )TOE) DOVOHODN TR Do BOBS,) dowsen (CBIN) (8o
RWad 20T Q.

Year: 2000 2001 2002 2003 2004 2005

CBIN: 105 75 71 105 95 90

€43 )68 2004 065651078 H02D0H0NS VY et drdE dows

Options :

29
2. %

3. % 20

79
4. %
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The cost-of-living index based on the following items prices in the current
year are

Items: | |2 I3 la Is
Po :30 8 14 22 25
Py 47 12 718 15 3D
W o 4 T 3 Z 1

Options :

|, 136.36

141.875
%

128.98
L 4

120.78
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If No = 15 and N1 = 19 are the numbers of articles in the base and the current
periods, No1 =12 is the number of articles common to both the periods the ratio
test for homogeneity of error is

No = 15 c00G50 N1 = 19 @& ZRSR e Hows SHOCH (Ve
seeren), Not =12 @90 SO SPererdd ariardea oo §6are) dom s eon s
S°H0 B0 Hereaed §H0 AN HOY

Options :

0.34
1. &

, » 029

0.1
3. %

0.9
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All India whole sale price index number for the manufactured products from
1975 to 1980 to the base year 1970-71 = 100 as given below.

975 c00E 1980 o3850 SOST TONDEN Esed JEVHE HODO0AO0DN e
PORAT WUTO D O SrdE dowg 1970-71 B [0HO = 100 (Bod
QI FDR0H.

Year 1976 | 1977 | 1978 | 1979 | 1980
Index Number Pgj | 171.7 | 1794 | 177.9 | 203.5 | 248.6
The link relatives P23,P24 and P4s are ?

© 08 20603 P23,Pas 0BG Pas o)adEd ?

Options :

L (99.16, 122.16,104.48)

) @ (99.16, 114.39,122.16)

. (104.48,99.16,114.39)

(114.39,122.16,104.48)
4. %
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An experiment is conducted with a Latin square design layout of order 4 and
collected total yields corresponding to the four treatments as: 30.8, 86.9, 124.5,
118.0. then the sum of squares of variation due to treatments is

ere3S 3D 8098 TBwEiesdb 4 BeohSS 28 (D30
QG 50N DR08), LB wrenD W8S 8 (Treatments) evcoiHeaom
J0B0 HHDAD EOO0DOH: 30.8, 86.9, 124.5, 118.0. @) 1¢0 DSy
SO S0 EY S5ne J[wdo

Options :

1372.1225
1. ¢



1552.4812

1252.5625
3. %

1172.2150
4. %
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Consider a Latin square design of order 4 with Sc?= 51.75 and Se? = 26.616.
by considering rows taken as blocks, the efficiency of the design over
randomized block design is

3D 0 SUS Yy Ul 4 & DTS AELTOIT SIS
DA VeV Se2= 51.75 SHOO5D Se2 = 26.6160% DOHefoiod. et
IO 2r8enm HBHS0IB0 T sTr, ATy D)E DO BB o
ere3D W50 g} rendso

Options :

0.7545
l. ®

1.5265
1.2465

1.8545
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The age groups and the number of children born to 1000 women passing
through the age group are given below.

Age group 1 16-20 21-25 26-30 31-35 36-40 41-45 46-50

# born children : 150 1500 2000 800 500 200 100
The Gross Reproduction Rate for woman is

S50 DATIEN HOOKW 50NN K> 1000 SHOA (VOB 230D
2O HOYS (808 VI 5DH08.
220D D00 : 16-20 21-25 26-30 31-35 36-40 41-45 46-50
# 2563 Devew : 150 1500 2000 800 500 200 100
L8 ey 5065 168 Bew
Options :
2.52
1. ¢

2.07

5.25

2.89
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A life with two years return with certain values are presented below
DO eSO BTO Do Tre) BLDIE Erdd 2eso 1808
P laloRleIntAletoln!

Age (x) Lx dx Tx

(Years)
35 9,345| ? |1,63,819
36 9,243 | 149 ?

In the usual notation, Tas =

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :



1,63,664

1,594,570
2.

1.54.,525

1.73,056
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The number of persons dying at age 75 is 476 and complete expectation of life
at 75 and 76 years are 3.92 and 3.96 years. Then the numbers living at ages
75 and 76 are

75 HOXSBITO HONNYS HBBoT S:e Howg 476 HBAL 75
DO 7600333070 250N o0 223)ed evodrme 3.92 HOCw 3.96
HOSBIT® SO, €8I 75 HOAH 76 HOSBITES AT
2220000)) 0 DOoBE
Options :
2575, 2354

) 2676, 2200

3 o 17792221

1856,2345
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In the usual notations, the formular for various rates are given below. Find the
correct matching

TS SoToeS, DN BE S0 (B0 255308, HB S
QOFOED EFTH0G

(a) Gross Reproduction i) kX n {[nLe/nPx ]X nfrx}
rate

(
K%j“lf‘_} Jg}.:‘{':](jjefaﬁ:% Sen (i) n'Bx/nPx X K
(b) Net reproduction rate (iii) 'L/ Tx X n'Bx
QEG cdtoed €8 Be - £
a ) V) nBx/n'mx X K
(c) Total fertility rate (N e
H0EBO ggg@nrg%fm@ Beyw (V) ZnBx/hPxx k; (T is over reproduction
gﬂﬁ},&%e. agzcgc fertility rate period)
= O 1’:-" (e lN ]
HoTPSeh 1ed Tew
Options :

(@) < (ii); (b) <> (i); (c)e(v), (d ) (iv).
1LV

(@) <> (ii); (b) <= (iii); (c )e=(iv), (d )= (i).

2. &%

(@) © (ii); (b) <> (iv); (c }=>(i), (d }>(v)
3. %
' (@) < (v); (b) < (ii); (c)=(i), (d)=>(iv)
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The daily consumption of milk in a city, in excess of 20,000 litres, is
approximately distributed as a Gamma variate with parameter a=0.0001 and

»=2. The city has a daily stock of 30000 litres. The probability that the stock is
insufficient on a particular day is
2,8 550" Ferard re> DATIFHO, 20,000 OIS E0T B0, DTS

a=0.0001 D00 =28 PP VOTR T DITDT  Deradaan
TONDEEAR0B. SHS0S” Ferdd 30000 DS D> s &0d. 2.8 DO Fard
8 DO Do2T5es

Options :



1. %

9—2
2. %

e
3. ¢

3e+
4. %
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In a group of 200 workers numbering from 1 to 200, a sample of 10 workers
are selected using systematic sampling. Then the probability for selecting
one worker from the numbers 120 to 140 is

1 OB 200 I8 HOWEE B 200 HOO TOHO Jhrsroes,
E DDA (38T DGed) GOITHOD 10 DO0E 5262500 [edSTadodn
D00E DON2DCWEA0A. ©953 )0 120 O 140 5850 &d) oL DOB
2,8 05080 QotNE I8 doerdsed

Options :

1/200
l. %

1/20
2.¢

1/10

Ve
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A sampler has two strata with relative sizes w1 = % W2 = % . He believes that
variances of the two stratums is equal, i.e. S1% = S22. For a given cost C = C4

"';.IIT
n1+ Cz2nz when N is large, the ratio % =

opt
wi= 3, =2 |1DBEFHAN HOITFETOS BOR DOV [ ELINON
EORGOD. @65 DO |00 dd)s3e) NS0T S0P
N3N IEPCR, @0 512 = S22 ADIN OB §H0 C = C1inl + C2n2 Nh QM

s W
€500 o)) JCR, %.ﬁ;@g% =

opt
Options :
I w,C, +w,C, |
1. %
f_[“’n/a b -Jf_':]z |
| w,C, +w,C, |
2. 8% ) )
| WG A w, G
3. %

w ¢ +wy G,

i_(“’l\/C_-l *“’zw/a]j _'
4

4.
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Let Vran, Vprop @nd Vopt be the variances of the usual estimators under Sample
random sampling, proportional allocation and optimum allocation for a given
sample size. If Nn is large then

PN (DBETD DTS, AR )8 (DEBETD, €90 ed TEFON 0
OO @IOANON Berowoye 1Bod s @otiare) 3BE)
DYged 0 Vran, Vprop «00a5w Vopt 65068065 504, Nn DAE esons

Options :

Vran= mep = Vopt
1. ¢

Vran < Vprop < Vopt
2. %8

Vran= Yprop = Vopt
3.0%

Vranz Vprop < Vopt
4. %
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If p =4 - 5x%, the demand curve, where x is the quantity demanded and p is
the price, the elasticity of demand will be unity at the value of x is

P =4 - 5% Q08 JHETD, QER X @O AIT08 TN D070
HOOW p RO AY ©ond, ASr0s BE) VBTNES X eSS
DE65 LOTP E50EN0R.

Options :
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Correct Marks : 1 Wrong Marks : 0

A consumer utility function is u= 4x1x2 - x2?, where x1 and x2 are the quantities
of the two products consumed by the consumer and the prices per unit of the
goods are Rs. 20 and Rs. 10 respectively. The optimum level of the commodity
to maximize his utility and spend his total money of Rs.60 is

DATTFHT S DOCTTM (HDODSD U= 4xixz - x22, 2L x1 HOAY x2
@R AVTITHTN DATIPNOT BOD &ed )N HOJISTETeD HOAD
3G ORTVE GSden Er. 20 HOCW Br. SNAM™ 10. @6
DRAITFTTR) OIS SO0 @965 [0 ) Er.60 <ol s
30y TINE) FOLIAODH T oM

Options :
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A man with 'n" keys wants to open his door and tries the keys independently
and at random. The mean and variance of the number of trials if unsuccessful
keys are not eliminated from further selection is

' 8w B9 2958 53 ehe ) BT FHHV0ETER HOTSD & 5B0(SHOM
B TSN IEOT™ 8O 1HOHBIRTE. SN NoDE oS
D230NS0B0 5 8en FOROWIBESSB (L0oDS ) doms TB0E, AED
5O DI

Options :



n, n(n-1)

1Lv
n/2, "Cz
2. %
n/2, (n-1)2/12
3.%
n-1, (n-1)2/12
4. %
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X be a random variable follows a distribution with density
f(x)=2x/1m? 0<x< .
The density function of Y if Y = Sin X is
2,8 OSPYD)E BT X, 1800 oG5 225230508 90000,
f(x)=2x/Tm? 0<x< TI.
Y = Sin X @000a Y GInE) aroldied (200050
Options :

Lo W
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(a) Modified exponential curve (1) abc*
(b) Gompertz curve (i) a+bck
(c) Pearl Reed Curve (i)  (a+bc*)?
(d) Semi logarithmic curve (iv) ab*

(v) ab®

Options :

o @ (i) (b) & (v): (e )il (d ().

(@) « (i) (P) < (iii); (€ Je=(iv) , (d J=>(i).

2. &%

(@) <= (ii); (b) <= (iv); (C )e=(i}) . (d )= (V).

3. %

(@) < (v): (B) < (ii); (c Je=(i), (d )e=(iv)

4. %
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Deflation of index numbers meant for
19963 ($9:3°201€90 D) NoWE® &EF02R0E

Options :
real wages
) BIEHTION

income of money index number
CH20)) &TPON0 PR ODE

real income index
aTP0) ESTTPON0 AT

all the above
NS TR0 5,
4. &
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The major function of Central Statistical Organization is
0[S TEIVES sITBAS DSBS

Options :

Compilation of national income estimates
20D SO eotdTre Ho¥erdo

conducting annual surveys
0% HT sen DG 0ticso

collection of Socio-economic data
@“&?&?ﬁ-@@é Ber Ese

Guidance of states in the conduct of surveys
DB 50 AE 557 Talo IS S 86 co

Question Number : 95 Question Id : 18152010917 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
CSO0O Organization was started under the Finance ministry in
0IOS T E3VES sITBAS O & [2rE0DoDIE

Options :

Januatry1950
23000 1950

May 1951
- 1951

March 1955
02’0y 1955



Aug 1958
esffed) 1958

Question Number : 96 Question Id : 18152010918 Question Type : MCQ Option Shuffling : Yes Is
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Identify the wrong statement among the following

(i) NSSO provide statistical data for National Income & Planning.

(i) NSSO conduct annual surveys in the organized industrial sector.

(iii) Training of personnel and providing guidance to the states in the conduct
of surveys.

(iv) Compilation of National Income

800 73 ) 1D HO0TI0A

(i) 2PB0H eTraDo & (DeFrPE 00 NSSO Hero¥ ST0dSn &
©0QN0A.

(i) NSSO égoﬁ?gégé SrBF NS $010S° 08 HB 00 ABELFN0E.

(i) DDYJOOE FEE @ILH0 HOGAN B0 DTS Tared
S 0583565 50 @0H0WG0.

(iv) 230D e3TraH0 NOEONO

Options :
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Let X and Y have joint density f(x,y) = % (1-x3y); -1<x,y < 1the distribution
of U= X-Y is

X 0BG Y 0 &0 arodsed fix,y) = V4 (1-x3y); -1<x,y <1; U= X-
Y G308} a)2ar23dedd



Options :

Left skewed
l. %

, . Right skewed

Symmetric
3.¢¥

We can't say exactly due changes based on the values

Question Number : 98 Question Id : 18152010920 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mid year population 3,52,72,000; Total births= 1,87,236; Total deaths = 72,299
are the figures for the year 1982 obtained from the sample registration system
under operation in Rajasthan. The annual crude rate of natural increase is

TET RS @00 &) (DBEFE) (VP ) ST 9550 0B
FO&R 1982 065310708 D000 HEFPOSeN: DS D080
23e0e2> 3,52,72,000; [00 23cdaren= 1,87,236; 3020 Hdegren = 72,299
. 723 DS 0% (5 & Tew

Options :

L 3.26

2.56
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Expectation of life at age x is
X 65090 2Deh0 B oI

Options :

Living at age x / person dying at age x+1
X 03050:036Y 28000 1 8558 x+1 S5SOHN S’ HBeJoLsso

Living at age x to x+1 / person living at age x to x+1; )
X (00 X+1 50D’ 28DOTIB0 /X HOG x+1 500
QIO 358

2. %

Living above age x / person living at age x
X 50T DB0305 3000 &e9) 0358 1 X 5aH0 Y’ QSN o558
3.

Living above age x / person dying at age x
X E0T) 80263 03000 B9 0358 / X 50D S0BE30T o358
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MNational income
27305 eSTPONO

Options :

Value of goods and services + increase in stock — depreciation —
income from abroad

S50H 00 SDOAD WI Deesd + 5T DM —
SDOH A - DTFE NOG S5T) eTCAHO

l. %

Value of goods and services + self consumption + increase in
stock— income from abroad

3805900 OGN WIS DeNeS + DO AATrH0 + 5SS’
DEDSO- DT DOA 3T, estraHo



Value of goods and services + self consumption + increase in
stock — depreciation + income from abroad

50690 OGN I Desd + VLD DATBFHO + 5SS
2D - SDDHA + DTFTE OB 5T .) ST A0

Value of goods and services + self consumption + increase in
stock — depreciation — income from abroad

S5ANHED DOCIL TSI DeVed + V0D VA0 + 56
DI - SEDMDH A - DBFO DOR 5T, STTAHO

4.9



